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SECTION-1| GENERALAPTITUDE TEST | 25 QUESTIONS

Read the following question and decide which QI
of the additional information given in the

options is required to answer it correctly.

Five students, A, B, C, Dand E, are standing
in a queue such that A, C and E are NOT at
the extremes. Who is standing at the first

position in the queue?

(A) Eisahead of C but behind A.
(B) A isahead of C but behind D.
(C) Eisexactly in the centre,

(D) There are 3 students ahead of C.

Choose the odd one out. Q2
(A) DVW

(B) GST

(€) JPQ

(D) MNK

Select the term that can come in place of
“V"in the following series.

Q3

IBY, 6FV, 11JS, 16NP, 7

(A) 21QL
(B) 21QM
(C) 2IRM
(D) 210N

fFfreafafem g &1 @@ v Puifte =F
& ga® wfl o 39 @ fov Rewt §
A fvw affRe wae & o 8

4 BT A, B,C,D 3R E, uss ufde %
TR @S & 5 A, Callv E Rl aw
I8! § | ufde  wew uEd @ wer &7

(A) E,CH amt & af A9 09 &
B) AChamtafFaDpads &
(C) E fiema ma % &)
(D) CH 3t 3 B #)

frferflrn # & s g5 o1 ags g
(A) DVW
(B) GST
(C) JPQ
(D) MNK

99 Ut @ "9gq faw o Frefafea
s % weAtaes (7) 3 w1 W S |

IBY, 6FV, 11JS, 16NP, ?

(A) 21QL
(B) 21QM
(C) 2IRM
(D) 210N
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If in a code language, TABLE is written as
SYYHZ. how will CHAIR be written in the
same language?

(A) FBEXM

(B) BEFXM

(C) EBFMX

(D) BFXEM

If+ implies -

— implies x

* implies+

+implies +,

then select the option that gives the proper
sequence of signs that when filled in the gaps
of the given equation will correctly complete

the same.

6123 5 15=11

(A) +, -+, X
B) + = %+
(C) +, %, =+
D) =+ +X

Q4

Q5

us g W ¥ af TABLE 1 SYYHZ
foran oiven &, oY 9 @ W # CHAIR
@1 a7 foran wgEr?

(A) FBEXM

(B) BEFXM

(C) EBFMX

(D) BFXEM

afy + @& ek - 8

e x#

x 1 e + 2

=1 anf + B,

o 9w e & wua o ol el
&1 aftrer s auifar Tar & o faw e
FAH B e § W T WS e
| FH Q@

61235 15=11
{"ﬁ"} s =2 Ta Ly
[-B:I +l -

{C] + % -+
m] -+, +, X

SERIES-D-G




Qb6

Q7

Q8

LM

Select the figure that is related to figure C in
the same way as figure B is related to figure

A
(M n“ .
o e R R
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I ©
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(B)

(©)

VOl 09 [0

00 0ol |00

D)

' O

Identify the odd one from the given list.

Ignore, Avoid, Recognise, Reject, Neglect,
Overlook, Overpass, Forget, Disregard
(A) Recognise

(B) Overlook

(C) Overpass

(D) Disregard

Identify the odd one from the given list.

Jaipur, Jodhpur, Jaisalmer, Chhatarpur,
Ajmer, Bikaner, Chittorgarh, Kota, Sikar,
Pushkar

(A) Jodhpur

(B) Chhatarpur

(C) Chittorgarh

(D) Pushkar

D

Q6

Q7

Q8

W IIPT BT A W foredr sy C
W a8 waw & o szl B a1 el AR

I
o0
A 16 -

© 0
(B) o a

o 0
e

oo

D) la ®

frafoafaa vl &t gt 4 @ fs o
o GG D

(A) UBHFA
(B) e
(C) sifa—foarn
(D) arader

Frafafaa g 4 9 A= @ 539 &)

SR, MY, SNER, BOVYR, 3O,
d@rr, frleng, o W, o=

(A) SiTEge
(B) BT
(C) faxiremg
(D) gy
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Q9

Q10

The following diagram is the outcome of a
survey carried out for the number of
languages that can be spoken by the
employees in a particular department of a
company. Study the diagram and identify the
option that is NOT correct.

English Hindi

2
"/

Marathi

(A) The total number of employees who
responded to the survey was 54,

(B) 30 employees can speak Hindi.

(C) 30employees cannot speak Marathi.

(D) 23 employees can speak exactly two
languages.

Two positions of a dice are shown. If* 1" is
exactly opposite *5°, then which number will
be exactly opposite ‘2'7

(A) 3
®) 4

© 5
(D) 6

LM-D
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Qll

Ql2

John started from point A and walked 12
km towards the east, turned left and walked
another 5 km to reach point B. George also
started from point A but walked 3 km
towards the south, turned left and walked
another 18 km to reach point B. What is the
shortest distance between points A and B?
(A) 6km

(B) 8km

(C) 10km

(D) 14km

Given is a statement followed by two
conclusions. Identify which of the given
conclusions logically follow(s) from the
statement.

Statement:

During election period, politicians usually huri
abuses at candidates of other parties and
some often make vulgar gestures too.

Conclusion:

I[) 'Women and children should not be
allowed to attend election rallies.

II) Election Commission should issuesa
strict code of conduct for all politicians.

(A) Only conclusion I follows,

(B) Only conclusion II follows.

(C) Eitherconclusion I or II follows.
(D) Neither conclusion I nor II follows.

Q11

Ql2

ol g A% g B av vdas & forg o
# AR 12 km T 2, o) R ol 4
PR 5 km W goren &) offa o filg A9
fig B wde & 10 3 km 3o 4 si
o &, v o siv 3 Y 18kmalk
aam 8| g AdfR B3 @19 grem
faert &7
(A) 6km
(B) 8km
(C) 10km
(D) 14km
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Q14
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Select the option that is a valid assumption
for the following statement.

Statement:

Despite a clear warning from the doctor,
Ramesh, who is a diabetic patient, ate ice
cream at the wedding ofhis friend.

{A) The friend does not like Ramesh much.

(B) The doctor does not like ice cream.

(C) lcecream is not good for Ramesh's
health.

(D) Diabetes patients do not like doctors.

A statement and two courses of action are
given. Select the option that is a valid course
of action for the given statement.

Statement:

Due to the planned transport strike, there will
be a shortage of vegetables in the market and
also prices may go up.

Courses of Action:

l. Govemment should try to negotiate with
the transport association to cancel the
strike.

Il. Shoppers must buy and store some
extra vegetables beforchand.

(A)
(B)
(©)
(D)

Only action |

Only action [1

Both actions [ and 11
Neither action I nor Il

71593127

Q13
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(B)
(&
(D)
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Q15

Q16

Q17

QI8

If Visible :: Eyes, then Audible :: 7.
Identify what can come in place of *?",
(A) Brain

(B) Nose

(C) Heart

(D) Ears

If Book :: Author, then Song - 7.
Identify what can come in place of *7".
(A) Seript Writer

(B) Lyricist

(C) Director

(D) Producer

In a certain coded language, if COPPER is
written as CISP16E18 and SULFUR is
written as S21L6U 18, then how will the
word SODIUM be written?

(A) S15D9U21

(B) SI19D4U21

(C) S15D9U13

(D) S15D2IMI13

Pointing at a child performing on the stage,
aman in the audience said, “He is the brother
of the daughter of Shilpa, who is the
daughter-in-law of the mother-in-law of the
mother of my son.” If the man is NOT the
husband of Shilpa, how is he related to the
father of that child on the stage?

(A) Uncle

(B) Nephew

(C) Grandfather

(D) Brother

Q15

Qlé6

Q17

QI8

it a¥ia ;. wid, & s 7

s N & weafees (“7) @ e o
HIG |

(A) wita=s

(B) 1%

(C) w=1

(D) &

aft g daw, oy fra 7

s a6 s wefees (<7 @ e oo
ST |

(A) Jeo das

(B) Maar

(©) Pre®

D) Pien

uw faftire e w4, af COPPER #)
CI5P16E18 foran wiman & aflw SULFUR
@ S21L6UI8 foram wmen 8, & we
SODIUM ! 9 forar wmen?

(A) S15D9U21

(B) S19D4U21

(C) S15D9U13

(D) S15D2IMI3

WY W U A W U@ ae A AR
gm ave gu adfel o 9§ ue afe
oEl, 7€ e @ o @ wd &) e
WA F A B e A oag ® ) afX aw
afe Rre @1 ofty 1Y 8, o oW

W W 7= @ far § o H@Eg 82
(A) =re /W / e
(B) weiran /s
(C) ==
(D) g
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Q19 Givenare four statements followed by four

Q20

conclusions, Assuming the statements to be
true even if they seem to be at variance with
commonly known facts, identify which
conclusion(s) definitely follow(s) from the
statements.

Statements:

1. Some cats bark.

2. Those who bark do not sleep.
3. Allelephants sleep.

4. Nocatisan elephant.

Conclusions:

[) Some catsdo notsleep.

) Some elephants bark.

1ll) Cats who bark are elephants.

IV) Elephants who do not bark are cats.

(A) Only conclusion I follows.

(B) Only conclusions | and Il follow.
(C) Only conclusions 11l and IV follow.
(D) Only conclusion I follows.

Study the following series and identify what
can come in place of *7".

STEM, MFRV, VSDP, PEQY, YRCS,
SDPB, ?

(A) BPBU

(B) BNFO

(C) BQBY

(D) BQAW

LM-D

Q19 ¥R FwA 3R WS ag ar fFrerd Ry

Q20

v &) fafess ot 6 @1 w /9 fred
faw Ty wert & PfYEa w9 @ e
Fal /o 2/8 wd 1 § W WU
| g et | s BT

Ca'DH
7o fafeedt e 21
ot ot & & W a8 &)
i el W 8

od faceh s 7 2

e

= W

frresd:

N o ffeadt @ 78 8

I o swd e &

nn o fafest {fed € 3 seh &)
vy ot gefl ffea =i & 4 fafeedr 81

(A) #aa Fred | SR S €

B) Dae Fresd 130 11 sFgaew & §)

(C) @aa Frepd 11130 IV 3FERoT I
7

(D) dae fresd (11 sgaver & )

Fr=fafa siaear o1 0@ s s 7%
yeAtoEa (‘7)) @ WM W B 9l U9
HreT?

STEM, MFRY, VSDP, PEQY, YRCS,
SDPB, ?

(A) BPBU

(B) BNFO

(C) BQBV

(D) BQAW
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Q21

Q22

Q23

AR RS W - TR A L R S SR R A .

Study the following series and identify what
can come in place of ‘7",

JAM24, LEK28, NII32, POG38, RUE44,
TAC24,7

(A) VAA26

(B) VEA28

(C) VEB30

(D) VEAR

Study the following series and identify what

can come in place of *7".

83,77, 68, 56,41,23,7
(A) 2
B) 7
(€) 10
) 1

Read the following question and decide
which of the additional information given in
the options is required to answer it correctly.

The age of a father and his son is in the ratio
of 13 : 3. If the age of the mother is 33 years,
what is the ratio of the age of the father to
that of the mother?

(A) ﬂndiﬂ'ﬁmbﬁmﬂm:gﬁufﬁw
father and the son is less than the age
ofthe mother.

(B) Theage of the father at the time of
marriage was 27 years.

(C) Theaverage age of the father and son
is more than the average age of the
mother and son.

(D) The average age of the father and
mother on the son’s first birthday was
28 years,

LM-D
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Q21 PR sfwen 7 v she s @t

Q22

Q23

wEfET (') @ wE W B W ue
Hrg?

JAM24, LEK28, N1I32, POG38, RUE44,
TAC24,7

(A) VAA26

(B) VEA28

(C) VEB30

(D) VEA32

et sfaar ) vd ik s s %
e (“7) & WF W e o den
ame?

83,77, 68, 56, 41,23, 7
(A) 2
®) 7
(© 10
(D) 11

P we 21 o i Pl =% 5
THET WA UTR 2 @ fav et 4 )
fre sfoRew waem 2 areva 24

U@ far aitv g3 @) any 13:3 3 appum

# 81 af 7w @ sy 33 af &, & R

@\ 3R T AN A IR W w4y &7

(A) foem 3w g1 & sy @1 afew, s
@ I A B 2

(B) Raw & ww R &t amyg 27 o
ot

(C) R 3k g 2 afrear g, wmem i
= 1 ahw g @ st #)

(D) 43 & wEd Sr=fa o foay afv Amn
o afrea g 28 o o
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Q24

Q25

Read the following question and decide

which of the additional information given in

H
.

the options is required to answer it correctly.

A istaller than B, who is shorter than C. Who
is the tallest person among them?

(A) C isnot the shortest person.

(B) Bisnotthe tallest person.

(C) Theaverage height of Cand B isthe
same as the height of A.

(D) Theaverage heightof Aand B is less
than the height of C.

Read the following question and decide which
of the additional information given in the
options is required to answer it correctly.

A is the son of B, who is the husband of C.
D is the mother of E and wife of F. How is B
related to F?

(A) The mother of D is the mother-in-law
of C.

(B) A and E are cousins.

(C) Bisthe uncle of E.

(D) A isthenephew of D.

LM-D
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(B) B wa® s 78 81
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B WA 2|
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Q26 AsofApril 2019, who is the President of

Q27

Q28

LM-D

SECTION-2 | GENERAL KNOWLEDGE | 50 QUESTIONS

the Confeederation of Indian Industry (CIT)?
(A) KumarMangalam Birla

(B) Ashok Hinduja

(C) Vikram Kirloskar

(D) RajivBajaj

Q26

As of April 2019, who is the Chancellor of p Q27

Tamil Nadu Agricultural University
(TNAU)?

(A) Trilochan Mohapatra

(B) Ajay Kumar Singh

(C) Sachin Wadhwa

(D) Banwarilal Purohit

Asof July 2019, who is the Union Minister
for Agriculture and Farmers Welfare?

(A) Narendra Singh Tomar

(B) Harsh Vardhan

(C) AnantGeete

(D) Radha Mohan Singh

W
K

13

Q28

30 2019 7%, IuTE TSN B ITAN
e sem aiew (Cl) 3 seas 3
.44

(A) R e faven

(B) e g

(C) famm freiteav

(D) T o

Sl 2019 T ITTEH WD B AR,
ufvarg o Rwafaea (TNAU) &
gy F &

(A) P wemrE

(B) s R e

(C) wfE amar

(D) AR i

e 2019 TP, ST AFTEN D JTER
@ P R fram ser 50 $
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(A) 7= Rig @R

B) w¥ =

(C) =g A

(D) v #igw Riw
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Q29

Q30

Q31

LM-D

Which of the following countries is the
largest producer of wheat in the world?

(A) France U

(B) China
(C) Australia
(D) Canada

The Keetham Lake and Sur Sarovar Bird
Sanctuary are located near which of these
cities?

(A) Jhansi

(B) Kanpur

(C) Lucknow

(D) Agr

Which city of India is home to the famous
Falaknuma Palace?

(A) Jhansi

(B) Gwalior

(C) Jaipur

(D) Hyderabad

14

Q20 Prefaftrr 3 & @y wr g fea A g

Q30

Q31

H1 HaH WS IAES TN 7
(A) Wi

(B) ¥

(C) aifeferan

(D) Fra

ferm $ia afiv g w¥9aR @i anEam
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(A) sl
(B) TR
(C) TaTH

(D) SR
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(A) i

(B) TarferaR

(C) wagR
(D) Bgvmre
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Q32 Which state police has its motto as
‘Suraksha-Apki-Sankalp-Hamara'? It
means “ Your Security Our Resolution’.

(A) Odisha Police
(B) Rajasthan Police 4
(C) Uttar Pradesh Police 3

(D) Haryana Police

Q33 In the mobile technology series of 3G, 4G
and 5G, what does the letter G stand for?
(A) Gap

(B) Gigabits

(C) Gateway

(D) Generation

Q34 Name the ex-South African player who is
currently the head coach of the Royal
Challengers Bangalore (RCB) cricket team
for the 2019 season.

(A) AB De Villiers

(B) GaryKirsten

(C) Adrian Dale

(D) HashimAmla

LM-D 15

Q32

Q33

Q34

Prefafem # @ R wou 2 gfr @
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(A) shfsam gfera
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(A) fg
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Q35

Q36

Q37

Indian Railway Minister Piyush Goyal has
announced a new railway zone to primarily
cater to Andhra Pradesh. What is the name
of this railway zone?

(A) Southern Coast Railway Zone

(B) Rayalseema Railway Zone

(C) Coromandal Coast Railway Zone

(D) Seemandhra Railway Zone

Tkhilas Khan's Roza (mausoleum) is situated
in which district of Uttar Pradesh?

(A) Meerut

(B) Saharanpur

(C) Jhansi

(D) Budaun

What is the full form of RFP, which is used
in the context of an RFP document in the IT
sector”?

(A) Request for Proposal

(B) Request for Petition

(C) Request for Process

(D) Register Formal Process

LM-D
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Q35 Wit Y& WA drgw Mae A g WU R

Q36

Q37

s w2 @ fay s vl oE @
ooy & &) W Y9 N & AW .=
&7

(A) =frh ae Y& o=

(B) TE¥AT Y@ @

(C) TNpiEa T Wd WF

(D) i ¥EE

SEAT W BT U (FEHaw) IR g2W
& fm=fatta few e 4 Raa 87
(A) B

(B) @YY

(C) s

(D) war]

RFP &1 qR1 1% 71 &, foreast 9wanr IT
Haey A RFP swmaw & wed o &
e #?

(A) Redve BR wdioe

(B) ReEw R ifew=

(C) Radve v W&w

(D) R o e Waw
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Q38 Watson computer is a product of which of

Q39

Q40

Q41

the following companies?
(A) Microsoft
(B) IBM

(C) Google
(D) Dell

Kevin Systrom and Mike Krieger are the
founders of which of the following?

(A) WhatsApp

(B) Twitter

(C) Instagram
(D) Linkedin

Who among the following established the
Banaras Hindu University?

(A) Rabindranath Tagore

(B) Ganesh Shankar Vidyarthi

(C) Govind Ballabh Pant

(D) Madan Mohan Malviya

Where is the Bara Imambara monument
situated?

(A) Lucknow

(B) Varanasi

(C) Kanpur

(D) Prayagraj (Allahabad)

LM-D
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Q38

Q39

Q40

dfew Hgey Prafafm # | fw woh
@1 tfeae &7

(A) Microsoft

(B) IBM

(C) Google
(D) Dell

1 R ol sz v e
49 owe s 7

(A) WhatsApp

(B) Twitter

(C) Instagram

(D) Linkedin

e Ry Reafaraa # wnesr
fr=fafaa § | few @7

(A) Mg &

(B) o viwv R

(C) M= aeem va

(D) w&+ Wigs ey

TS YIRS VNG TE1 faw 87
(A) T&TH

(B) amrordt

©) TR

(D) WFRT (§TEmER)




Q42 Who among the following was popularly Q42 Frefafm # | 59 fR-u-afem &

referred to as the Sher-e-Ballia? A A T ST 17
(A) Bhagat Singh (A) wra fRiE
(B) Chandrasekar Azad (B) TR AT
(C) ChittuPandey (C) forey wid
(D) Mangal Pandey (D) ¥rel U@

Q43 Who was the Samajwadi Party (SP) Q43 iR YA 2019 ¥ FETS ¥ I

candidate from Lucknow contesting against fiig @& Raeme wwraErE aiel (|ar)
Rajnath Singh in Lok Sabha Elections 20197 wrireaR fr=fafaa d @ @9 ar
| (A) SureshBansal (A) 0 Fw
(B) PurviVerma ®) qii wi
| (C) UshaVerma (C) wur awt
(D) Poonam Sinha (D) Tm fw

Q44 The Parichha Dam in the state of Uttar Q44 Fox Wy vy @ uder i e A w

Pradesh is built across which river? o qar 87
(A) Sharda (A) El
(B) Chambel (B) @«
(C) Betwa (C) erar
(D) Ghaghara 3 (D) =TI
g
Q45 Uttar Pradesh wasearlierknownasUnited Q45 ST el T yEd wgaa Wi & W A
Provinces. In which year was it named as AT e oOr | 39 5 a9 SR w1tn &
Uttar Pradesh? am fear ar ar?
(A) 1947 (A) 1947
(B) 1951 B) 1951
(C) 1950 (C) 1950
(D) 1948 (D) 1948
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Q46

Q49

Who was the first Governor of Uttar Pradesh
after it got renamed as Uttar Pradesh from
United Provinces?

(A) Varahagiri Venkata Giri

(B) Hormasji Peroshaw Mody

(C) Biswanath Das

(D) AkbarAli Khan

In which year did the first large-scale mutiny
by Indian soldiers against the British, the
Vellore Mutiny, take place?

(A) 1812

(B) 1800

(C) 1806

(D) 1813

In which year did East India Company sign
the First Treaty of Amritsar with Ranjit Singh?
(A) 1800
(B) 1805
(C) 1806
(D) 1809

ETSECTY

Q46

Q47

The Brahmo Samaj was established in 1828 Q49

by:

(A) Raja Ram Mohan Roy

(B) Swami Dayanand Saraswati
(C) Keshab Chandra Sen

(D) Swami Vivekananda

LM-D
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HgF Wid W O WA & Wy i W
TE S 418 IR U2 T TESAT A1
o ur?

(A) Twfft dwe MR

(B) erereel e wré

(C) Rrwasme g

(D) s e @

3t B Rawms vty @t g ggan
73 TR W e, dwi Rge fvg of
B3 or?
(A) 1812
(B) 1800
(C) 1806
(D) 1813

5w a8 % d= fRa Il 3 wrim
e & s s @ geelht Wl W
ERmRR fu?
(A) 1800
(B) 1805
(C) 1806
(D) 1809

1828 % @81 W A W Prefafe
i 9 s g i o o

(A) T I HEE Y

(B) vari guwiT W

(C) @ w7 &

(D) = e
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Q50

Q51

Q52

Q53

In which year did the first passenger train in
India run from Bombay (now Chattrapati
Shivaji Maharaj Terminus) to Thane?

(A) 1835

(B) 1825

(C) 1853

(D) 1840

o

in which of the following locations was the 1

first post office in India established by the
British East India Company in 17647

(A) Hikdam

(B) Pune

(C) Madras (now Chennai)

(D) Bombay (now Mumbai)

Morley-Minto Reforms, formulated by John
Morley, were enacted in which of the
following years?

(A) 1909

(B) 1920

(C) 1895

(D) 1897

Who was the first person to address
Mahatma Gandhi as the ‘Father of the
Nation"?

(A) Sardar Patel

(B) Jawaharlal Nehru

(C) Subhas Chandra Bose

(D) Lala Lajpat Rai

LM-D
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Q50

Q51

Qs2

Q53

ded (3 sm vaufd fimEmh wERe
2fia) ® ar aF W A gEen Al 3
fw af weh o7

(A) 1835

(B) 1825

(C) 1853

(D) 1840

1764 # fafew &= R o W
T WINET 1 UEST 813 6N et
# 9 e v ow ur?

(A) fRfem

®) ™
(C) werH (3@ =)
(D) W (3@ §a%)

it At g daw fwan Ay
qur, Preafefen § @ fow af A
sfFrafa far Tar?

(A) 1909

B) 1920

(C) 1895

(D) 1897

wEreE T @ i sEer waf
T T/ yEd afe ¥ 97

(A) WREN 9ee

(B) TIIEY @I EH

(C) o dw A

(D) el S W
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Q54

Q35

Q56

Q57

In which state is the Eravikulam National
Park situated?

(A) Kamataka

(B) Assam

(C) Kerala

(D) Andhra Pradesh

Which of the following is NOT abiotic?
(A) Water

(B) Soil

(C) Ar

(D) Fungi

As of 2014, which country is the leading
producer of tin in the world?

(A) China

(B) Brazil

(C) Malaysia

(D) Vietnam

In which district of Tamil Nadu is ane of the
oldest dams, Grand Anicut, also known as
Kallanai, located?

(A) Madurai

(B) Tiruchirappalli

(C) Erode

(D) Coimbatore

LM-D
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Q54

Q55

Q56

Q57

g nfa g e wwg ¥ R
&

(A) TAfes

(B) e

(C) 3=

(D) 3T waw

Preifafea ¥ / @9 & s = &7
(A) Tt

B) 7=
(©) &
(D) wa®

!lilﬂnw,mlﬂ‘ﬂm%&am.
frefafea % @ @ W fva & s &
st IuEs 2w &2

(A) &=

(B) #rfre

(C) weifiran

(D) fem™

g @ fra Rt F soaE @ W
W W W aren e wiee ai, o B
W gRF A Y W T 8, Rem @
(A) 7Y

(B) Frsfemmeh

€ =

(D) TGy




Q58

Q59

Q60

Q61

As of 2012, which country is the largest
producer of bauxite in the world?

(A) Brazil

(B) India

(C) Australia

(D) Indonesia

Which of the following rivers is also known
as Uttara Pinakini?

(A) Cauvery

(B) Brahmani

(C) Vaigai
(D) Pennar

The culture or cultivation of grapes is called:
(A) Viticulture

(B) Pisciculture

(C) Sericulture

(D) Horticulture

Khadar and Bhangar are types of which of
the following soils?

(A) Black

(B) Aluvial

(C) Red

(D) Laterite

LM-D

Q58

Q59

Q60

ad 2012 0%, SUEE FESN B FTER
fawa # dfewge o WEH 991 TUES oW
T &7

(A) =roitd

(B) Ra

(C) sifegferan

(D) S

formferfaa 3 & @ 6 98 gr i
@ 5 | N ol o @7

(A) Fad

(B) arEi

(€) &

(D) =R

JE @ af W B A HwE B
fr=fafaa 4 @ e m | o o
87

(A) R&Tar

(B) dRiIHEE

(C) T¥iwear

(D) Eiféweas

ey 3l Wi Prefafaa 4 @ e
R @ fgh &7

(A) @rei

(B) Wei1g

(C) @&

(D) wievEe
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Q62

Q63

Q64

LM-D

In which country is the Tanami Desert
located?

(A) China

(B) SouthAfrica

(C) Australia

(D) India

Asof March 2019, how many fundamental
duties are there in the Indian constitution?
(A) 6
B) 7
(C) 9
(D) 1

India has signed an MoU in April 2019 with
the National Bank for A griculture and Rural
Development Consultancy Service
(NABCONS) for setting up the India-Africa
Institute of Agriculture and Rural
Development (LAIARD) in which country?
(A) Zambia
(B) Malawi
(C) Tanzania

(D) Kenya

Q62 i e Freferfiun @ frg 2w

Q63

i e #2

(A) ©F

(B) =R st
(C) aifesferan

(D) W

A 2019 T, SUTE AFHT B ATAR
e W # o e wda
(A) 6
B) 7
(€) 9
o n

WA A 50 3w § ara-anfier P alk
uritr RS W (IAIARD) # waraen
@ oy Awea ¥ o vfieear ve wea
aaTie HHeHl witw (NABCONS)
@ | ol 2019 % washar s v
FRmER fHy 87

(A) o

(B) wemd

(C) wimfaran

(D) &=
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Q65

Q66

In 2018-19, for the second successive year,
which state has been ranked first in e-leaming
training programme of the Department of
Personal and Training (DoPT) of the
Government of India?

(A) TamilNadu

(B) Karnataka

(C) Telangana

(D) Kerala

Uttar Pradesh Diwas is celebrated on which
of the following dates?

(A) 25* March

(B) 2%April

(C) 10 April

(D) 24* January

Asof March 2019, which is the third-largest
bank in India?

(A) Indian Bank

(B) Bank of Baroda

(C) ICICI Bank

(D) Canara Bank

LM-D
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Q65

Q66

2018-19 % @R g ad @ fo, e
U B VNG TSN B DifaD Ud wite
farT (DoPT) @ $—affr ufdwr Hdms
¥ ugan ware fEar wan 87

(A) afteETg

(B) &iie®

(C) oI

(D) Hv

g wew Raw frefafes 4 ¥ B
i @1 W e 87

(A) 25 wrd

(B) 23

(C) 1030

(D) 24 SEd

A 2019 0%, SUTEl WFEEN B FTHR
WRer &1 ArEw wE a1 §5 I 6 87
(A) w5

®) & aifw 7

(©) aandiong =

D) @ ¥®
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Q68  Reliance Mutual Fund has partnered with Q68 Ram =g ws 3 Rl 4 @

Q69

Q70

which of the following companies to launch
voice-based financial transactions?

(A) IBM

(B) Accenture

(€) Google

(D) Infosys

Asof March 2019, what is common to these Q69

four countries — South Sudan, Libya, Yemen

and Greece?

(A) unamm

(B) Allare monarchies

(C) Allare Mediterranean countries

(D) Allof them have had an average
10-year negative economic growth

In April 2019, Reliance Jio acquired the
chatbot-making startup firm Haptik for;
(A) T 700 crore

(B) T 500 crore

(C) T 600 crore

(D) T 400 crore

LM-D
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Q70

R B9 @ wer amaror—amafe Rdira
AT G AR B e W A &2
(A) IBM

(B) Accenture

(C) Google

(D) Infosys

mﬁznmmmmﬂﬁm

¥ R 3 - et gem, dhifdar ae

M A — A Prefafea & 9 o &

Ia = 87

(A) w4t andteht 2 #

(B) wh wrorea #

(C) = yararrdg 3o

(D) =7 it # shwe= 10 wrer &)
TeReT aiftls gy & &

A 2019 % Rengw R 4 e
TR # Aedte w9 ot werdam o
Haptik 7 siftraser fsar?

(A) T 700 T0s

(B) T 500 F%rs

(C) T 600 T

(D) T 400 9%
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Q71

Q72

Q73

International Centre for Automotive
Technology (ICAT) is scheduled to Organise
NuCGien Mobility Summit 2019 in November
at which of the following locations?

(A) Mumbei

(B) Manesar

(C) Bengaluru

(D) Chennai

Which of the following companies owns the
video app TikTok?

(A) OpenXcel

(B) Consagous Technologies

(C) ByteDance

(D) RipenApps

In April 2019, the UAE honoured who
among the following with the prestigious
Zayed Medal for giving a big boost to
bilateral strategic ties?

(A) Imran Khan

(B) TheresaMay

(C) Emmanuel Macron

(D) Narendra Modi

LM-D

Q7

Q72

Q73

72786552

mmwm&ﬁéﬂﬁﬁﬁ
(ICAT) Ty # ot (NuGen) Aifafere)
fray weer 2019 Prefafa 3 9 6
wIF R arfor e e 87

(A) Ho¢

(B) AR

(C) HTes

(D) ¢

Prerferfiea o & @ @ @l Dz @
TikTok &1 ¥afiea v &7

(A) OpenXcel

(B) Consagous Technologies

(C) ByteDance

(D) RipenApps

frrfarfam 3 & f5 UAE g1 3l 2019
# Ruf wAfe wdE 3 @ -/
3 3 Py wfifea oUe wE 3 W
g fan war

(A) TR @™

(B) o A

() whaue Al
(D) iz
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Q74

Q75

LM-D

Who among the following has become the
first transgender election ambassador in
India?

(A) Gauri Sawant

(B) Sathyasri Sharmila

(C) Joyita Mondal

(D) Prithika Yashini

As of April 2019, which country holds the
top spot in the latest FIFA world football
rankings?

(A) England

(B) Belgium

(C) Germany

(D) Austria

27

Q74 m#ﬁmmaﬂmm

Q75

g Yoy ah &7
(A) T awda

(B) Wi nffer
(C) Shfaen wea

(D) g afirf

mzulam.mmrﬂa%:ﬂﬁm
Prferfe 3 & @ a1 2w w1l e
Rea geata Wi 4 geat v w22
(A) Fofe

B) ¥

(C) Wi

(D) sitfzan
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Q76

Q77

Q78

Q79

Q80

SECTION-3 | GENERAL SCIENCE /ARITHMETIC |50 QUESTIONS

A cone has its base radius as 7 cm and slant
height as 25 cm. The volume of the cone
will be:

(A) 1232cm’

(B) 3696 cm’

(C) 1864cm’

(D) 2464 cm’

Out the following numbers, which one is
NOT a perfect square?

(A) 3136

(B) 12544

(C) 1296

(D) 23832

The decimal expression for 8 rupees 8 paise
(3

(A) 88.0

(B) 8.008

(C) 8.08

(D) 8.8

[nm:produmafm:ﬁmaicvmmml
numbers, the digit at the ten’s place is:

(A) 2

(B) 6

C) 35

D) 0

Out of the following, which is the greatest?

(A) {49}%
® 7

(©) q;z-u:ul}-TI

® (35)

LM-D
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Q76

Q17

Q78

Q79

Q80

@ dg B aER B P 7 em 3R
R Saré (eie §1®e) 25 em B U
&1 amae fween B

(A) 1232cm’

(B) 3696cm’

(C) 1864 cm’

(D) 2464 cm’

frefaftra weRil # @ @F @ wen
v qof aif el 87

(A) 3136

B) 12544

(C) 1296

(D) 23832

g oy 8 O T Tl & fay e
afrenfae @ gF7

(A) 88.0

(B) 8.008

(C) 8.08

(D) 88

gl 35 W WPl Wearl & ToFH
i e B WF W @A 6 IS T
(A) 2
®) 6
© 5
D) 0

Prafaftr 3 | 9 @ e W Le
8?

(A) 149}%

® 7

©) {zmn_‘*'

Y s
© (343)
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Q81 If!':ﬁ'mdsini.ﬂ'lenﬂhcmimofxis:
(A) 1
B) 0

©) 2
(D) Novalueofr

Q82 The LCM of two co-primes ( a and b)is:
(A) a-b

(B) a+b

(C) alb

D) ab

EWTOYL,

Q83 The difference between a number and the
two-fourth of that number is 60. What is the
number?
(A) 120
B) 125
(C) 130
(D) 160
Q84 IfA:B=3:7andB:C=7:9,thenA:C
is equal to:
(A) 3:7
(B) 2:3
(C) 3:1
D) 1:3

X takes 8 hours to complete a task. Y takes
12 hours to complete the same task. How
long would it take both X and Y, working

together but independently, to complete the
same task?

(A) 4days
4

(B) 475 days
5

(C) 4;? days

(D) 5days
LM-D

Q81

Q82

Q83

Q84

Q8s

ok 2% 5 B aic ¥ SEvn & ot x @
o= féeem ghm?

(A) 1

B) 0

() 2

(D) x &1 T 7 75 B

ﬂﬂﬁm‘d@nﬁ{ambjmragﬂw
waEd S T wpn?

(A) a-b

B) a+b

(C) alb

(D) ab

felt e ol swd Q—vurd &
W 3N 60 # ) W Ty #7

(A) 120

(B) 125

(C) 130

(D) 160

U A:B=3:73RB:C=7:98 ar
A:C B a2

(A) 3:7

B) 2:3

(©) 3:1

D) 1:3

s & a g o @ e X @) g e
R & 1 I B B g p D vy
m‘nzﬁém!:aﬁmaﬁwaﬂﬁ
@ fow X3l Y 9 v Bia o afe
LLCER R

(A) 4f2=

m;%f&q
C) 42 R
(©) 43

(D) 5f&=
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Q86

Q87

Q88

Q89

LM-D

Find the area of a square whose diagonal is
10 m long.
(A) 10m?
(B) 50m?
(C) 100m?
) 110m*

Solve the following.

(1 —sin*g)sec’g =
(A) 0

®) 1

(C) sng

(D) cosg

Find the range of the following data.

32,45, 16, 28, 69, 34, 29,54, 48
(A) 16
(B) 44
(©) 53
D) 54

What was the name of the first spacecraft
launched by India in 19757

(A) Bhaskar

(B) Aryabhata

(C) APPLE

(D) Rohini

What is the total route length of the proposed
Eastern Dedicated Freight Corridor?
(A) 1556km
(B) 1656km
(C) 1756 km
(D) 1856km

banye A

Q86

Q87

Q88

Q89

vs af fred et @ @ 10m e,
I SAGA TG B |

(A) 10m?

B) S0m?

(C) 100m’

D) 110m?

fyp=faftae & & &

(1 -sin*g)sec’g =
(A) O

B) 1

(C) sng

(D) cos@

Prefaftaa ST @ Yo g H0

32, 45, 16, 28, 69, 34, 29,54, 48
(A) 16
(B) 44
(©) 53
D) 54

1975 % wRa gRT @t U Y gEd
iafe aF & AW a9

(A) W

(B) e

(C) Twd

(D) wfgh

s gt <t e aRER A dad
feoeht &7

(A) 1556 km

(B) 1656 km

(€) 1756km

(D) 1856 km
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Q91

Q92

Q93

Q94

Q95

Which of the following missiles developed
by DRDO is an air-to-air missile?

(A) Prahar

(B) Shaurya

(C) Astra

(D) Prithvilll

Deficiency of which vitamin causes rickets?
(A) VimaminD
(B) VitaminB
(C) VitaminE
(D) Vitamin A

Which of the following diseases occurs due
to the deficiency of proteins?

(A) Goitre

(B) Kwashiorkor

(C) Anaemia

(D) Bronchitis

Which of the following diseases can be cured
by increasing intake of citrus fruits?

(A) Pellagra

(B) Blindness

(C) Scurvy

(D) Osteoporosis

Which of the following statements is TRUE

about the process of evaporation?

(A) Liquid state is changed to solid state.

(B) Gaseous state is changed to liquid state.

(C) Solid state is changed to liquid state.

(D) Liquid state is changed 10 gaseous
state,

tase e

3

Q91

Q92

Q93

Q95

DRDO g1 st Fr=faftee 4 4 a
i frarsst s 9 w41 i A B @
% firaga &7

(A) WER

B) =4

(C) 3=

(D) et 1

FreiferRaa 3 @ fara e o =6 @
Rdew @t frd o 22

(A) e p

(B) fa=fs B

(C) fefdmE

(D) fRefa A

WET B BN @ s Frefafeg § @
@ fod e &2

(A) TMgex

(B) @nf¥mina

(C) w=ifean

(D) wieERw

g el @ WA B qgr @ Prafefe
4% #F @ dd & B wad 22
(A) Y&y

(B) aEmas

(C) wadt

(D) siffteamafte

arfider @ wfiar @ an i Ry

% @ W vl &2

(A) T Jawn, O Iawen § 95 o
2

(B) i srwen, g srEwen # waw W
g

(C) oY 3w, ga sraven § we wiEr
Ly

(D) w7 sawe, Ty srawen & 92 wi@T
2
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Q96 Which of the following has resulted inthe Q96

deterioration of water quality?

(A) Improper disposal of sewage

(B) Deforestation

(C) Incorrect distribution of water
resources

(D) Overpopulation

(97 The Slunit of stress is:
(A) joule
(B) pascal
(C) wvokt
(D) watt

(98 Name the instrument used to measure
absorbed or evolved heat.
(A) Ceilometer
(B) Colorimeter
(C) Calonmeter
(D) Clinometer

Q99 Name the force that binds protons and
neutrons in a nucleus.
(A) Electromagnetic force
(B) Weak nuclear force
(C) Gravitational force
(D) Strongnuclear force

Q100 Protium, deuterium and tritium are:
(A) isotopes
(B) isobars
(C) isomers

(D) isochors

LM-D
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Rrefarfea 3 | frad qRvmREsd O
& rren # fmae g &7

(A) 72wl o1 Wl @ Auer | e
®) @l A e

(C) we ! @1 e e

(D) sreufirs e

wftrel (stress) @ SI gTg T 87

(A) v
(B) 4Urend
(C) A

(D) @e

Prefafera 4 @ v 73 = 9@
sraghfter ar faesfRv SO (heat) B HIGA
% fog fasar wmen 7

(A) fheriex

B) wrefireY

(€) darinirex

) fesrie

v e § wet s g ® 4R
T a9 B T aea &

(A) Rgga g=o w@

®) gde TS T

(C) TowITSHv e
(D) vaa I a@

Q100 wifeam, sq2fRum sty Rfeuw &I

Prfaftm 3 & Read Aol F v 7
87

(A) FHEN

(B) JgHEAR

(C) MgHTR

(D) IWHBR
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Q101 Which of the following gases is necessary

for combustion?

(A) Hydrogen

(B) Carbon monoxide
(C) Oxygen

(D) Methane

Q102 Which of these values represents pH of an

alkaline solution?
(A) 5
(B) 2
©) 10
(D) 3

Q103 Which of these is sonorous?

(A) Wood
(B) Water
(C) Rubber
(D) Iron

Q104 Select the water-soluble vitamin among the

following.

(A) Vitamins C
(B) ViaminK
(C) VitaminD
(D) VitaminA
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IS 87

(A) TTEBISH

(B) & Ariritearss
(C) sifeirar

D) e

szl?fﬁﬁ%fmaﬁﬂaﬂﬁﬂrnmwm

o7 & pH @1 wfafifre svar &7
(A) §

(B) 2

(©) 10

D) 3

Q103 ﬁmﬁmﬁﬁﬂm’mwwwtﬁrﬁm

(sonorous) g} #7
(A) a5&

(B) writ

(C) @

(D) i

Q104 Frviferflacr % 1 1 0@ vt § gerrdter

Refis 82

(A) Reafisc
B) RefFk
(C) R=fmD
D) REfdma
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Q105 Rimjhim’s physician advises her to avoid
consuming a diet high in saturated fats. If
Rimjhim does not follow her doctor's
advice, she can be ata risk of:

(A) kidney discase
(B) cardiovascular disease
(C) anasmia

(D) pancreatic disorder

Q106 Whichofthe following is a major source of
phosphorus?
(A) Potato
(B) Amia
(C) Orange
(D) Mik

Q107 What is the false feet with which amoeba
ingests its food called?
(A) Axopodia
(B) Pseudopodia
(C) Filopodia
(D) Reticulopodia

Q108 In our body, where does 90% of our total
nutrient and mineral absorption take place?
(A) Kidney
(B) Largeintestine
(C) Stomach
(D) Small intestine
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Q105 R & fafde 4 ¥ Hg@ T
(e de) T o 3 A da
A 7 & W A #) Rk Rl I
e # welE @1 e T B 8,
ﬁaﬁﬁﬂﬁf@aﬂﬂmmﬁ
g 7
@A) T @
B) w&a W
(C) varedn
D) wara (frafes) Rer

Q106 Freifafiaa # 9 1 W1 SROWH 3T &
W Wi 87
(A) e
(B) g
(C) W
D) ¥

Q107 Prefafew # & @ w1 & FEWE (false
feet) & FOrRY Sian 3o Ao B e
27
(A) T
®) W@
(C) frerfEam
(D) YRGS

Q108 TR R A TR T W T 3R
ol g 1 90% v HE g
87
(A) 79
B) & i
(C) s
(D) B1&) i
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Q109 Which among the following is referred to as
nearsightedness?
(A) Hypermetropia
(B) Hyperopia
(C) Myopia
(D) Astigmatism

Q110 Who discovered the X-rays?
(A) Galileo Galilei
(B) JJ Thomson
(C) Edwin Hubble
(D) WK Roentgen

Q111 Whatis the SI unit of time?
(A) Hour
(B) Second
(C) Minute
(D) Millisecond

QII2 Proteins are one of the —___ nutrients
that provide calories.
(A) four
(B) three
(C) two
(D) five

Q13 _  alsoknown as cobalamin,
(A) VitaminB12
(B) Vitamin BS
(C) VitaminB7
(D) Vitamin B9
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R Q109 FrifiRer 4 ¥ Rt Frare gy @

WY A W o 87
(A) sIETTgIfm
(B) st

(C) wmanfaa

(D) viRewifew

QU0 waH- # wWor faras o off?
(A) Mafort HMash
(B) ISt et
(C) Tefd= sam
D) &z, 3. deom

Q111 w91 # Sl gerd 77 &7
(A) Her
(B) ¥¥s
(©) fre
(D) Prefdies

Q112 Wié, 9 el W v g
ol dd weT @ #
(A) R
(B)

(€) =
D) dha

QU3 Fwiférfr % 2 Ry Prarenfis @ = @
W I o 87
(A) RefimBi?
(B) ReifBs
(C) Refym B7
(D) fAeifmBo
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Q114

0115

0116

QI17

Ihe greatest number that divides 59 and 54
with remainders 3 and 5 respectively is:
(A) 7

B) 3

(C) 5

(D) 8

I the volume of a hemisphere is 18 7 cm’,
then the total surface area of the hemisphere
E

(A) 27 x cm’

(B) 18x cm’

(C) 24r em?

(D) 21 x cm’

Let ‘a’ and ‘b’ be two numbers. The HCF
of ‘a’ and ‘b’ is 4 and the LCM of ‘@’ and
‘b’ is 400. Then, the number of the pairs of
values ‘a’ and ‘b’ can assume is:

(A) 3

B) 4

(C) 2

D) 1

Tap A and B can fill an empty tank in 30
minutes and 60 minutes respectively, TapC
can empty the full tank in 45 minutes. Ifall
the three taps are opened together, then the
time required to fill the empty tank will be:
(A) 18minutes

(B) 36minutes

(C) 24 minutes

(D) 30minutes
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Q114 T8 waH ¥§ HE DI # & fored 59

e 54 #1 fAfor & 1R HEE 3 Al
5 9y o &7

(A) 7

B) 3

(C) 5

(D) 8

Q115 af? & o M o FATT 18x em*®,

@ ow ad e o o wah gAR
faern grm?
(A) 27 x cm’
(B) 18x cm’
(C) 24 x cm®
(D) 21 x cm’

Q116 #F & ‘a’ 3R b’ &l we £1 ‘a' 3R D’

1 wETwH wEade 4 & ol aye
wad® 4002 @ ‘o’ 3R b’ B WIS
£ de & ¢ w1 € v 87
(A) 3

(B) 4

(€) 2

(D) 1

Q117 id A BT el a0 @1 we 30

e M sofFe A mwsa B 7@ C
@%@e‘aﬁaﬂifﬁqﬁﬂmﬁaﬂ
wwar 8 af A e TS e E aR
£ o weh 2 B W A R T
i

(A) 18 fiFe

(B) 36 fFe

(C) 24 fire

(D) 30 fFe
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Qls Amdﬂcmmmiauuskinﬁﬂduysmd

90 days respectively, With the help of C,
they completed the task in 20 days. Iftheir
total earning is ¥ 36,000, then considering
that their eamings are in proportion to their
work, the share of C will be:

(A) T 16,000

(B) T 13,600

(C) T 15,400

(D) T 14,800

Q119 Shilpa travelled at a speed of 20 kmv/h for 3

hours and an equal distance further at a
speed of 15 km/. The average speed of
Shilpa (in km/) is:

|
(A) I?-z'

!
(B) IT?

|
(C) Iﬁ;

|
(D) Iﬁ_;

Q120 In APQR, £Q=90°. A, B and C are the

midpointsof PO, OR and PR respectively.
Then, which of the following statements is
TRUE?

(A) F.A, Band C are concyclic points
(B) R B A and C are concyclic points
(C) O A, Cand Bare concyclic points
(D) Allofthe given options
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QI8 A 3R B e ot &) wwwr 60 it 3ty

90 f&=t # q@r @v W &) C A weraar
0, %M g9 a1l @1 20 e PO
foran) aR sl ge @d 36,000 2,
o 8 @ g R 5 w9
B Ut § 8, C w1 e Rae g
(A) T 16,000
(B) T 13,600
(C) T 15400
(D) T 14,800

Q119 Rream 31 3 wiet & fare 20 kmvh @l Ty |

M 5o & v Zh B 1S knvh 2 TR
W ) firen & aftea oy (km/h
) s &

1

(A) I?E

|
(B) i?.?

|
© 163

I
(D) 165

QI20 APOR R £0=90° & 4, BalR Cwwar

PO,OR R PR & wa fig &

Prafafte § 3 2% w1 v wd &7
(A) £ A, B3R C yngdig fig &
(B) R B A 3R C vagdy fig &

©) 0.4, C3R B rwgdy fig &
(D) v v i fwey
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Q121 If @° is the measure of an angle which is

equal to its complement and 5° is the

measure of an angle which is equal to its
o

supplement, then 7 is:

(A) 3

(B) 1

(©) 2

(D) 0.5

Q122 Ramesh sold a box at 10% profit to Suresh.

Suresh sold it to Ganesh at 20% profit. If
Suresh’s profit isT 44, then the cost price of
the box for Ramesh is:

(A) T 200

(B) T 150

(C) T 100

(D) T 250

Q123 Mahesh had x number of trees in the year

2011. Every year, due to new plantation, the
number increased by 10%. In which year will
the number of trees become at least 50%
more than that in 2011, for the first time?
(A) 2017

(B) 2016

(C) 2015

(D) 2014

Q124 A moneyamountsto¥ 4,200 in 3 years and

to ¥ 6,000 in 6 years at simple interest, The
rate of interest is:

(A) 20%

B) 1 2% %
(C) 30%
(D) 25%
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Q121 af2 a® % W H A9 § O FE

g @ vy B ol gC U B W
A & off 599 AT T WA g, @

&
7 el |

(A) 3
®) 1
© 2
D) 05

Q122 Y 3 (S T 10% A™ WA B

WIW%E@ED%WWWEW
¥ fRar | afz geu 3 T44 @1 @ afia
e ot O @ fov =9 A &1 @
e fere &7

(A) T 200

(B) 2 150

(€) T 100

D) T 250

Q123 @f 2011 % WBw & UE x 9P d| TS

ad, Y FERNY @ SRV, §W we |
10% # gfg & omf #) o o AR
R ok 9 2011 9 g # TS A wEm
W | B 50% IfF B gA?

(A) 2017

(B) 2016

(©) 2015

(D) 2014

Qll#qmﬂﬂﬂﬁrwmmiﬁwsﬂﬂ

24,200 3hw 6 af # T 6,000 €1 wR ¥
=ra 9 = faeh &2
(A) 20%
1
{B} 125‘%

(C) 30%
(D) 25%
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Q125

LM-D

For the first 567 natural numbers, the
arithmetic mean will be:

(A) 283.5

(B) 284

(C) 284.5

(D) 283

EIEF0LEL
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Q125 wEeh 567 wpfrs il @1 waER

"y fasaer g
(A) 283.5

(B) 284

(C) 284.5

(D) 283
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Q126

Q127

Q128

Q129
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Q130

Q131

Q132

Q133

Pt 3 9 @ W = AR
# T 7

(A) o &t e

(B) wrar SSHETY

(C) woeferan

(D) <1 FERS

fid wfte @ qfwr & qEs I
{4

(A) wEE Y

®) i g T

(©) o fGdd

(D) e T

el dreh fre arnin @ Rofi g
87

(A) W

(B) & sl

(€) WeEA

(D) #rEs

gedyeror v R wnfden @ fw @
# foran Tar?
(A) nfEsa
B) wfderTe
(€ T

(D) mgfiE BIe
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Q135
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B) =M afv vafy

(C) wen »fa

(D) Wl &1 wied

WU U @ MR ) 79y

VP & RN, INERY e YOR B

WYl & v g avfe B et Swd @)

firer &

(A) waT vo=

(B) Wawrs v ¥

(C) fodt @9 & +haf 4

(D) =S, wiferara, wagfh sanfy
W @ wrdr sfaay |

SERIES-D-G




Q136 TudEE ey &1 wEeer |

LM-D

(A)

(B)

(©)

)

=1 oft # geg wgia @ W
wut i @ g & @i Iwd
SIERTT &1 BT AT WIH FE@HT
781, afew favareed g wiofisa
are #1

o dad Haomraen At
wWeaM wgaed, dea e
frRfray A Fee Sewar @ TR
nfy @ o g AwviEier &
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@) faaEd g

() T TY

(D) T G

Tul &9 @ B 3 g squief 73
qE B B U wEEmaNS B uH
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(A) FiEm o=

(B) A& 9

(C) Trwias 9=

(D) @naiiE o=

Frfaa amdw # IRE T TR
e A 9R g

(A) #d e 3

(B) i 7§ 3R

(€) e TR 3R

(D) HW a1 3N
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(A) 37 wv
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(A) TrErED

(B) weamara®

(C) widnfaew
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(A) Tg%
(B) wrenfag

(C) og®
(D) sifiem
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B) wH-faun
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(A) TTBHw

(B) THETd

(C) T
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Q150 Frfafue & | @1 & = wife 8?7
(A) eI
(B) ¥
(C) &/

(D) Hareil
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Read the following Instructions carefully :

Prafafas Aol & am 9 w

Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not liable
to be changed

. The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No, anywhere
else except in the specified space in the Answer Sheet.
Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy in
Test Booklet), another set will be provided,

The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Attendance
Sheet.

. Each candidate must show on demand his / her Admit

Card to the Invigilator

No candidate, without special permission of the Center

Superintendent or Invigilator, should leave his / her

seal

The candidates should not leave the Examination Hall

without handing over their Answer Sheet to the

Invigilator on duty. Cases where a candidate has not

signed on the Attendance Sheet will be deemed not to

have handed over the Answer Sheet and dealt with as
an unfair means case.

Use of Pencil/Electronic/Manual Calculator is

prohibited.

. The candidates arc governed by all Rules and
Regulations of the Commission with regard 1o their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and
Regulations of the Commission.

10. After Examination is over, candidate has to return his
Answer Sheet to invigilator. Invigilator will hand over
the Candidate's copy to candidate, then only
candidate is allowed to leave the examination hall,
Candidate is only allowed to take Candidate’s copy of
answer sheet.

11. Candidates are not allowed to take Test Booklet with

them., They have to submit the Test Booklet to the

Invigilator after the exam.
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